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Answer Key: Long Division No Remainders A:
Answer Key: Long Division No Remainders B:

[image: image3.jpg]Long Division No Remainders (B) Answers

365 503 576 214
6) 2190 4) 2012 6) 3456 6) 1284

278 295 347 948
9) 2502 4) 1180 8) 2776 7) 6636

941 584 832 822
5) 4705 3) 1752 8) 6656 6) 4932
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Answer Key: Long Division with Remainders A: [image: image4.jpg]Long Division No Remainders (A) Answers

744 833 416 201
4) 2976 7) 5831 7) 2912 5) 1005
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2) 1078 6) 2514 8) 4288 8) 7840
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Answer Key: Long Division with Remainders B:
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206R4 175R1 878R1 156R2
6) 1240 2) 351 3) 2635 9) 1406
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Answer Key: Sample Word Problems:

1. 91 baskets

2. Since the answer is 9 remainder of 1, they will need 10 buses to get everyone to the game.

3. Each child should get 33 cookies with 3 cookies left over.
4. 625 cats

5. 848 people traveled by bus.

